Potencias de 10 (H)

Calcule los siguientes cocientes.

0,276 0,1 3,787+0,1
5,544 0,1 9,511+0,1
6,69-+0,1 2,796 0,1
2,060,1 2,825+0,1
6,742 +0,1 0,035+0,1
2,303+0,1 5,525+0,1
7,539+0,1 5,669 0,1
1,348 =0, 1 8,41+0,1
1,643 +-0,1 9,17+0,1
9,264 +0,1 8,583 +0,1
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Potencias de 10 (H) Respuestas

0,276 =0, 1
2,76
5,544 +0,1
55,44
6,69-+-0,1
66,9
2,06=0,1
20,6
6,742 =0, 1
67,42
2,303+0,1
23,03
7,539+0,1
75,39
1,348 =0, 1
13,48
1,643+0,1
16,43
9,264 0, 1
92,64

Calcule los siguientes cocientes.

3,787 =0, 1
37,87
9,511=0,1
95,11
2,796 0,1
27,96
2,825+0,1
28,25
0,035+0,1
0,35
5,525=0,1
55,25
5,669 =0, 1
56,69
8,41 +0,1
84,1
9,17+0,1
91,7
8,583 0,1
85,83

MatesLibres.Com




